
Rock Core Cladding Set 

Copyright Planika Sp. z o.o.            www.planika.com I1516#01  05.01.2023 

 

 

 

 

EN Installation manual / DE Montageanleitung / ES Manual de montaje /                                      

FR Notice de montage / IT Istruzioni di montaggio  / PL Instrukcja montażu /  

RU инструкция по монтажу  

 

 

 

 

 

 

 

 

 

 

 

 

 

WARNING / WARNUNG / ADVERTENCIA / AVERTISSEMENT / ATTENZIONE / OSTRZEŻENIE / ВНИМАНИЕ 
EN This Manual only applies to the installation of Cladding Set with the Rock Core only. The operation and whole installation of the fireplace is included in the original burner manual 

DE Dieses Handbuch gilt nur für die Installation des Cladding Set mit dem Rock Core. Die Bedienung und die gesamte Installation des Kamins ist in der Original-Brenneranleitung enthalten 

ES Este manual se aplica únicamente a la instalación del Cladding Set con el Rock Core únicamente. El funcionamiento y la instalación completa de la chimenea están incluidos en el manual 
original del quemador  

FR Ce manuel s'applique uniquement à l'installation de Cladding Set avec le Rock Core uniquement. Le fonctionnement et l'installation complète de la cheminée sont inclus dans le manuel original 
du brûleur. 

IT Il presente manuale si applica esclusivamente all'installazione di Cladding Set co il Rock Core solo. Il funzionamento e l'intera installazione del caminetto sono inclusi nel manuale originale del 
bruciatore. 

PL Niniejsza instrukcja dotyczy wyłącznie instalacji Cladding Set ze Rock Core. Działanie oraz montaz palnika opisane jest w oryginalnej instrukcji obsługi kominka. 

RU Данная инструкция относится только к установке Cladding Set c Rock Core только. Эксплуатация и вся установка камина включены в оригинальное руководство по эксплуатации 
горелки 



 

2 

 
 EN DE ES FR IT PL RU Quantity 

A. 
Side Mounting 
bracker 

Seitliche 
Montagehalterung 

Soporte de montaje 
lateral 

Support de montage 
latéral 

Staffa di montaggio 
laterale 

Boczny wspornik montażowy 
Боковой монтажный 
кронштейн 

10 

B. Mounting profile Montageprofil Perfil de montajedo  Profil de montage Profilo di montaggio Profil montażowy Монтажный профиль 2+2 

C. 
Door Mounting 
profile 

Tür Montageprofil 
Puerta Perfil de 
montaje 

Porte Profil de 
montage 

Porta Profilo di montaggio Profil montażowy drzwi 
Дверь Монтажный 
профиль 

1 

D Door cover Abdeckung der Tür Tapa de la puerta 
Couvercle de la 
porte 

Coperchio della porta Maskownica drzwi Крышка двери 1 

E Bag with M4 nuts Beutel mit M4-Muttern Bolsa con tuercas M4 Sac avec écrous M4 Sacchetto con dadi M4 Worek z nakrętkami M4 Пакет с гайками M4 1 

 

EN Fix the dedicated top and bottom mounting brackets to the corners of the finishing material. The finishing material must be non-combustible, 12mm thick.  

DE 
Befestigen Sie die dafür vorgesehenen oberen und unteren Montagehalterungen an den Ecken des Verkleidungsmaterials. Das Verkleidungsmaterial muss nicht brennbar 

sein, 12 mm dick.  

ES Fije los soportes de montaje superior e inferior específicos a las esquinas del material de acabado. El material de acabado debe ser incombustible, de 12 mm de grosor.  

FR Fixez les supports de montage supérieurs et inférieurs dédiés aux coins du matériau de finition. Le matériau de finition doit être incombustible, d'une épaisseur de 12 mm.  

IT Fissare le staffe di montaggio superiori e inferiori dedicate agli angoli del materiale di finitura. Il materiale di finitura deve essere incombustibile, con uno spessore di 12 mm. 

PL Zamocuj dedykowane profile montażowe górne i dolne w narożnikach materiału wykończeniowego. Materiał wykończeniowy musi być niepalny, grubość 12mm.  

RU Закрепите специальные верхние и нижние монтажные скобы на углах отделочного материала. Отделочный материал должен быть негорючим, толщиной 12 мм.  

B C D EA

Cladding material
not supplied by producer

Element B

Cladding material
not supplied by producer

Cladding material
not supplied by producer

Element B

Element B

Element B



3 

EN When installing the corner profiles, maintain a 3 mm distance from the top and bottom edges of the cladding. 

DE Halten Sie bei der Montage der Eckprofile einen Abstand von 3 mm zu den oberen und unteren Kanten der Verkleidung ein. 

ES Al instalar los perfiles angulares, mantenga una distancia de 3 mm con respecto a los bordes superior e inferior del revestimiento. 

FR Lors de la pose des profilés d'angle, respectez une distance de 3 mm par rapport aux bords supérieur et inférieur du revêtement. 

IT Durante l'installazione dei profili angolari, mantenere una distanza di 3 mm dai bordi superiore e inferiore del rivestimento. 

PL Montując profile narożne zachowaj 3mm dystans od górnej i dolnej krawędzi okładziny. 

RU При установке угловых профилей соблюдайте расстояние 3 мм от верхнего и нижнего краев облицовки. 

 

EN Fix the side brackets to the finishing material.  

DE Befestigen Sie die seitlichen Halterungen an dem Verkleidungsmaterial.  

ES Fije los soportes laterales al material de acabado  

FR Fixez les supports latéraux au matériau de finition.  

IT Fissare le staffe laterali al materiale di finitura.  

PL Zamocuj boczne wsporniki do materiału wykończeniowego.  

RU Закрепите боковые кронштейны на отделочном материале 

 

 

3
3

084

084

Cladding material
not supplied by producer

Element A

Left side / Right side

25 50 25

1
5
4

1
5
0

1
5
4

4
5
8

100



4 

EN Fix the side brackets to the finishing material. Note ! Distinguish between the right and left sides. 

DE Befestigen Sie die seitlichen Halterungen an dem Verkleidungsmaterial. Achtung! Unterscheiden Sie zwischen der rechten und der linken Seite. 

ES Fije los soportes laterales al material de acabado Nota. Distinga entre el lado derecho y el izquierdo. 

FR Fixez les supports latéraux au matériau de finition. Remarque ! Faites la distinction entre le côté droit et le côté gauche. 

IT Fissare le staffe laterali al materiale di finitura. Nota ! Distinguere i lati destro e sinistro. 

PL Zamocuj boczne wsporniki do materiału wykończeniowego. Uwaga ! Rozróżnić prawą i lewą stronę. 

RU Закрепите боковые кронштейны на отделочном материале. Примечание ! Различайте правую и левую стороны. 

 
EN Attach the mounting profile to the cladding and then screw on the cover. 

DE Befestigen Sie das Montageprofil an der Verkleidung und schrauben Sie dann die Abdeckung an. 

ES Fije el perfil de montaje al revestimiento y, a continuación, atornille la cubierta. 

FR Fixez le profilé de montage sur le bardage, puis vissez le couvercle. 

IT Fissare il profilo di montaggio al rivestimento e poi avvitare la copertura. 

PL Zamocuj profil montażowy do okładziny a następnie przykręć maskownice. 

RU Прикрепите монтажный профиль к облицовке, а затем прикрутите крышку. 

 
EN Follow the Rock Fireplace instructions page 7 

DE Befolgen Sie die Anweisungen für den Rock Fireplace auf Seite 7 

ES Siga las instrucciones de la chimenea de Rock Fireplace de la página 7 

FR Suivez les instructions pour le foyer en Rock Fireplace page 7 

IT Seguire le istruzioni per il Rock Fireplace a pagina 7 

PL Postępuj zgodnie z instrukcją Rock Fireplace str 7 

RU Следуйте за Rock Fireplace инструкции страница 7 

 

Installation manual Rock Fireplace (I1517)  

 

25 50 177 50 83

385

3
5

1
5
0

1
8
0

1
5
0

2
5

5
4
0

Cladding material
not supplied by producer

Element A

25501775083

385

3
5

1
5
0

1
8
0

1
5
0

2
5

5
4
0

Right sideLeft side

Element C

Cladding material
not supplied by producer

Element D
21

Element E

405,5 71 23,5

6
,5

5
2

5
5

,5

500

5
3

71

7


